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5. What does the man want to do?

BB (HASMEHGNMNE LSS, 85 7.5%)

W R 5 B . BBMIEE A — A /NE M
PP AT A VBLC = AN 300k ) d HE 9L I bR
TEAR A AR O BE . 07 52 B BE T R IR ER A 10 B0
B ) I (] O o] 25 A7 G/ R (R F — /N, B

A. He wants to borrow her car.
B. He wants to go to school on foot.

C. He wants a lift.

BIB(HI5/MEHNE LSS, ES22.54)

WAL . Wi R E 5 BB BE. R EERHG A LA NE L M

1. At what time does the office open? BIPRr s 10 A VBLC =~ BT b 3k I S 32 0, 345
A, 7145, TEIRAS (AL 5 . T 45 Bk KL B IR 4 45 1) )
B. 8:15. PEAS AN/ B NE S R O SE ST L /N K 2
C. 8:00. 5 RPN A MR I ) g B AR R A

2, What did the man do last Saturday? UFSS 6 B, M4 6 2 7 41,

A. He saw a play. 6. How do they feel in the restaurant?

B. He acted in a play. A. Warm,
C. He went to the tea house. B. Good.
3. What is the relationship between the speakers? C. Tired.

A, They are friends. 7. What would the woman prefer to have?

B. They are strangers. A, Juice and fish.
C. They are brother and sister, B. Soup and meat,
4, What is the relationship between the two speak- C. juice and steak.

WA T BOBRL, A 8 F o .,
8. When does the father usually give his daughter

ers?
A, Hostess and guest.

B. Salesgirl and customer. money?

S S P S S S S

A, On Friday.

C. Waitress and guest,




B. On Saturday.
C. On Sunday.

9. What can we learn from the dialogue?

A. The father keeps his secret money in the bed-

room.

B. The daughter will spend all the money on

books,

C. The father usually gives his daughter $ 13 a

week.

WFAS 8 Bratkt, [ 10 & 13 M,

10. What's the relationship between the two speak-

ers?
A. Friends,
B. Strangers.
C. Classmates.
11. How long will the man stay here?
A, 7 days.
B. 2 weeks,
C. 1 month.
12. What does the man like about China?
A. High mountains.

B. Long rivers.

C. High mountains,long rivers and people.

13. Where does the man come from?
A, China.
B. England.
C. America.
Wiss 9 Bk, M 14 B 17 EL
14, Who is Elvis Presley?

i

BoHD RARBEDZEER @AM

A. The owner of a company.
B. A rock and roll star.
C. An American doctor,
15. How did he become {amous?
A. The old people supported him.
B. The manager guided him.
C. He worked very hard.
16. Who was considered very important in his life?
A. His parents.
B. His brother.
C. His manager.
17. What did many old people say about his song?
A. His song was dangerous for the young.
B. His song was good for the young.
C. His song was harmless for the young.
UEES 10 Bebf Rt IS 18 % 20 .
18. Where do you probably hear this talk?
A. Over the radio,
B. From the school.
C.From TV.
19. What does Jobs Information Service mainly do?
A. Answer student’s questions.
B. Talk with young people.
C. Find jobs for school graduates.
20. When can people phone Jobs Information Serv-
ice?
A. In the evening.
B. At night.

C. In the afternoon.

pereeemeaeramieiaceiaieie 2007 (R E B) FAAW oeeerieeeeeiies
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+ strong and her life grows together. The body by the destiny abandonment, the mind is sung actually

+

+ powerhouse’s song. Five years time,the warm 80,000 ice— cold minds,accept,the repayment,extend,

' : . .
; she uses the wheelchair to draw the most beautiful path for the compassion.

|
+
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The disability cannot defeat,rubs impoverished does not go bad, the disaster hits not but actually,
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1. What are the man and the woman talking about?

A, Buildings.

B. University,
C. New laboratories.
2. Who will go to the zoo with the woman?
A. Her son.
B. Her daughter.

C. Her sister.

e e e o e o o 1t e

3. Where is the post office?
A. In front of the shopping center,
B. At the back of the shopping center.
C. On the right of the shopping center.
4. What is the distance between this crossing and the
next one?
AL about 50 minutes' walk.
B. About 15 minutes’ walk.
C. About 5 minutes’ walk,

. Why did the doctor tell the man not to drink cof-

en

fee?

A. Drinking coffee can make him sleepless.

B. Tea tastes better than coffee.

C. Drinking coffee can make him put on weight.
EZH(HISNE;S/NE LS 5,#522.54%)

WS BERR. BB RS A JLA N E L M

P ETE A A BLC = AT bk B e 0, I A
TR A MR 0 . W7 3 BRI 48 A i 1] 5
BEAR AN /N S Bb s T S S A /N R 45
S EbHP MR T ] 15 BOM RHERE .
Wrsh 6 Bty I 6 2 7 8,
6. Whose mother was ill?

AL Jeff's,

B. Jack’s.

C. Richard’s.
7. With whom did the man go traveling?

A, Maria.

B. His dog.

C. Jeff and Richard.
WP e 7 BAr R, IS 8 E 10 M,

i 8. What's the relationship between the two speak-

ers?

A, Wife and husband.

B. Good friends.

C. Customer and saleswoman.

9. How many roses does the man buy?



R S | oo,
A. A dozen. b SIde?
B. Half a dozen, A. The man.
C. Two dozen. N : B. The woman.
10. What does the woman suggest the man put in C. Both of them.
the water? ' 16. Do they agree with each other at last?
A, Aspirin. 4 A. Yes,they do.
B. Sugar and oil. B. No,they don't.
C. Suger and vinegar, C. We don’t know.
WP 8 BUbHR, WS 11 E 13 M, | WR4 10 BbHR, EAE 17 20 AL
11. Where does the man want to go? t 17. What will China do very soon?
A. The Post Office. ) A. Explore the sun.
B. The Post Hotel. 1 B. Explore the earth,
C. The Renmin Road. C. Explore the moon.
12. How much can the man save if he takes a bus? 18. What is the weight of Chang'e 17
A, Two yuan. A. 2.3 tons.
B. Twelve yuan. B. 3. 3 tons.
C. Fourteen yuan. C. 3.2 tons.

13. What does the man prefer at last? 19, When will China send a vehicle to land on the

A. Taking a taxi. moon?
B. Taking No. 46 bus. A, In about 2007,
C. Walking there, B. In about 2010,
MRS 9 Br bRl EA 14 F 16 M. C. In about 2012.
14. What are the two spokers talking about? 20. How long will Chang'e 1 circle the moon?
A. How to be good friends, A. For 12 years.
B. How to spend the summer vacation, B. For half a year.
C. How to go to Qingdao. ; C. For one year.

15. Who suggests spending the vacation at the sea- 1

eieeereiecsieieeieieee 2007 (KB F B ) FAAW cevvrvinrnirisieiaiene

Chen Xiaolan :
Surely human, 1 toward! Once dangers and difficulties, her ten years ceaseless, since wears the:
white clothing,must be responsible for the life, on this sacred post, good ambitiously many which is
more important than the skill. She is a doctor, treats disease,also lets this profession be chaster,
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. What is the man?

A. A salesman.
B. A teacher,

C. A waiter.

. What time does the woman get home on Friday?

ALAL5:30 pom. .
B. At 6:00 p. m. .

C. At 5:00 p, m..

. Where are the two speakers?

AL In an airport.
B.In a restaurant.

C.1In a library.

. What is Peter doing?

A, Sleeping.
B. Washing his face.
C. Reading books.

. How often does the restaurant offer its dinner

specials?

A, Twice a day.

B. Twice a week,

C. Once a week,
B (15 EE L5 5, RS 22.54)
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. 6. Why does the woman go to Zhangjiajie?

A. To meet her friends.

B. To spend her weekend,

C. To take some photos.

7. Who will be there with the woman?

b

A, Her parents,

B. Her sisters,

C. Her classmates,

§OWTH T BrBOREEIKH 8 E 9 8,

8. How does the woman go to school every day?
A. By car,
B. By bus.
C. On foot.

9. What will the man do if he passes the exam?

A. Go on holiday.

+  B.Have a party.



C. Get a gift, N
Wreh 8 BUM R, WIS 10 F 12 @,
10. When was Socrates born?
AL In 459 BC.
B. In 496 BC.
C.In 649 BC,
11. What kind of person was he?
A. He had a good temper and no sense of hu-
mor.
B. He had a sense of humor and a bad temper.
C. He had a good temper and a sense of humor.
12. What can we learn from the dialogue?
A. Socrates didn’t become interested in philoso-
phy until 50 vears old.
B. The woman will give a lecture about Socrates
tomorrow.
C. Socrates was respected by the government,
WTEE o BEpORL MRS 13 2 16 .
13. When did Louis Braille live?
A, In the 1700s.
B. In the 1800s.
C. In the 1900s.
14, Why did Louis Braille become blind?
A. He was born blind.
B. He took the wrong medicine,
C. He became blind as a result of an accident.

15. In Louis’s opinion,what could free the blind?

Meng Xiangbin
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A. Friends,

B. Books.

C. Relatives.

What did Louis Braille study?
A. Making tools,

B. Making signs.

C. Reading books.

WP s 10 BEEf kL, M5 17 & 20 81,

17,

18,

20.

The wind whinny, the river water is cold, the brave soldier never to returns. Similarly is a life,
similarly has the family member,he uses a time magnificent falling from the sky,recalls other life. Do
not go to ask the value is unworthy, the life value always is not manifests with the exchange. He rests

in the ice-cold river water,for us a warm enlightenment.
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Why did Ted go to the bank?

A. To get some money.

B. To get the guard position.

C. To report something to the bank.

What did the man at the bank ask Ted to do

first?

A, He told Ted to write answers under the
questions on a piece of paper.

B. He asked Ted to answer his questions oral-
ly.

C. He told Ted to write some questions.

. What was one of the questions?

A. Have you ever worked in the prison?
B. Have you ever been in prison?

C. Why have you been to the prison?
What do you think of Ted?

A, He was clever.

B. He was friendly.

C. He was stupid.
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1. What can we learn from the conversation?
A, Tt is going to rain.
B. It is four o’clock now.
C. The woman's watch has stopped.
2. How long is the post office open on Saturdays?
A. For 3 hours,
B. For 5 hours.
C. For 8 hours.
3. What are the two speakers doing?
A. Looking for a job.
B. Having a holiday.
C. Organizing a tour.
4. Why is the man calling?
A. To change his appointment,
B. To speak to Dr. Zane.

C. To see the woman.

(4]

- Where does this conversation take place?

A. At a food store,

B e S P

C. At a vegetable market,
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6.

What is the relationship between the two speak-
ers?

A. Boss and employee.

B. Father and daughter.

C. Teacher and student.

. What does the man tell the woman to do at first?

A, Stop talking.
B. Get her things.

C. Arrive on time,

. What do we know about the woman?

A. She is cold-blooded.
B. She is hot-tempered.

C. She is warm-hearted.

Wref 7 BR[S9 % 11 .

9.

What are the two speakers generally talking a-



B XBRBEHzEHE

hout?
A. People served 1in shops,
B. Goods in various qualities,
C. Shopping in dafferent places,
10. What 15 the man?
A, A zalesman in a small shop.
B. A manager of a supermarket.
C. A staff of a department store.
11, What taght the woman think of supermarket
staff?
A, They're unfriendly.
H. They're very mice,
C. They're well-paid.
WP 8 ERATR IR 12 E 14 .
12. Where does this conversation probably take
place?
AL At a bus atop.
B. At a clathes shop.
. At a Lost and Found,
13, How many coats are mentioned hy the man?
AL
B. 3,
C. 4.
14, What do we know ghout the man?
A, He pretends to be poor,
E. He does not need a coat,

C, He 15 lying to the woman.
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15, What would the woman hike to eat?
+ AL A sandwnch,
B. Fried rice.
C. Pizza,
16. What drink wall the man buy?
A A Coke,
B. A hot Coffee.
C. An orange juice.
17. How much money does the woman give the
man?
ABE
B.53.
C.%85,
T 10 BEA B T EE 18 F L0 AR,
18. What probably is the speaker?
AL An a1 hostess.
B. A woman pilot,
C. A flight engineer.
15, What 15 the flight number?
AL G166,
IB. T154.
C. 61686,
20, When does the speaker give the talk?
A, Before a [lyght.
B. During a fhight.

., Afrer a {hght.
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I. How does the man feel now?

A. He is angry.

B. He is worried.

C. He is confident.
2. What does the woman imply?.

A. The team has to travel far for the next game,

B. The new coach has been very good.

C. The new coach doesn’t know the team very |

well,
3. Who is the woman?
A. A shopkeeper.
B. A bank clerk.
C. A driver.
4. What can we learn from the conversation?
A. Someone is waiting for him.,
B. The man enjoys his trip.
C. The man is going to call the woman tomor-
Tow,

. Which of the following statements is the man’s

[43]

meaning?

A, Tt is good to save money for the family.

B. It is good to buy a new car.

C. Tt is good to get a second car.
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6. Which would the woman like to apply for next

year?

A. Economics.

B. Engineering.

C. Science.
7. What's the purpose of the woman talking with

the man?

A. For a good record of her studies this year.

B. For a recommendation of him.

C. To get some advice about the recommenda-

tion,

WS 7 Bedbt, 2SS 8 % 10 4,

+ 8. Where does the conversation most likely take

place?
A, At the supermarket,

B. At the airport.



C. At the post office.
9. When will David meet them?
A. At three o'clock.
B. At two thirty.
C. At two forty.
10. What does the man think of the way the system
works?
A, Good.
B. Flexible.
C. Unreasonable.
W 8 BubbRE, WIS 11 B 13 M.

11. What is the function of the video game?

A. To help the older people sharpen their |

minds,
B. To amuse the older people.
C. To cure the sick older people.
12, How old people is the first video game to be
aimed at?
A. The over-50s,
B. The over-45s.
C. The over-60s.
13, When was the video game launched in Japan?
A. In mid-May.
B. Under a year ago.
C. More than a year ago.
WS 9 BURLRE, MIASE 14 B 16 M.
14. Hove much is the fare for a single ticket?
A. Seventy cents,
B. Seventy-five cents,
C. One dollar twenty.
15. Which platform will the train leave from?

AL 18.
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B.17.
C. 16,
16. Where will the two peopii: meet?
A. The gate of the station.
B. The entrance to the platform.
C. At the bus stop.
WEES 10 BrR KL, FIZESE 17 £ 20 .
17. What does the passage mainly discuss?
A. Two types of only children.
B. Parents’responsiblities.
C. The relationship between parents and chil-
dren.
18. Who are likely to treat their only children as
“special jewels”?
A. Those who are themselves spoiled and self-
centered.
B. Those who expected to have several children
but could only have one.
C. Those who like to give expensive jewels to
their children,
19. Why do some only children become “ little a-
dulls”?
A. Because they have nobody to play with.
B. Becanse their parents are too strict with
them in their education.
C. Because their parents want them to grow up
as fast as possible,
20. Why do some only children feel unhappy?
A. They have no sisters or brothers.

B. They are overprotected by their parents.

C. Their parents expect too much of them.
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1. Where does this conversation take place?
A, In a hospital,
B. In a friend’s house.
C. In the man’s house,
2. Why is Tony crying?
A. He can’t get up.
B. He lost his pet bird.
C. He lost his favourite toy,
3. What do we know about the man?
A. He is too busy to go there,
B. He plans to go there very soon.
C. He wants to go somewhere else.
4. Who is the man?
A, A boss.
B. A doctor.
C. An employee.
5. How many American soldiers have been killed in
wars?

A. 320,000,
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C. 2,000,000,
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6. Wlat is the man?
A. A guide.
B. A houseman.
C. A police officer.
7. What happened to the woman?
A. Her leg was broken,
B. Her money was stolen.
C. Her briefcase was gone.
WESH 7 BeAERE L [ 8 B 10 &,
8. What is the probable relationship between the
speakers?
A, Workmates.
B. Boss and secretary.
C. Manager and job hunter.
9. Why did the woman fail to get the job according

to the man?



